*	** Q-17-637 Pest Control Services Home Paramount Pest Contro			Home Paramount Pest Control Forest Hill, MD		Innovative Pest Mgmt., Inc. Beltsville, MD	
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
1	Airport – Terminal Building	Month	12	\$39.00	\$468.00	\$50.00	\$600.00
2	Airport – Maintenance Building #1	Bi-Month	6	\$11.00	\$66.00	\$40.00	\$240.00
3	Airport – Snow Removal Building	Bi-Month	6	\$11.00	\$66.00	\$40.00	\$240.00
4	Airport – Fire Station	Month	12	\$32.00	\$384.00	\$40.00	\$480.00
5	Black Rock Golf Course – Club House, Pro-Shop & Restaurant	Month	12	\$16.39	\$196.68	\$50.00	\$600.00
6	Black Rock Golf Course – Maintenance Building	Month	12	\$10.93	\$131.16	\$40.00	\$480.00
7	Black Rock Golf Course – Maintenance Supt's. Residence	Quarter	4	\$10.90	\$43.60 *	\$40.00	\$160.00
8	Dwyer Building	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
9	Martin Luther King Center	Month	12	\$19.67	\$236.04	\$30.00	\$360.00
10	Administrative Annex	Month	12	\$19.67	\$236.04	\$40.00	\$480.00
11	Administration Complex	Month	12	\$19.67	\$236.04	\$50.00	\$600.00
12	Court House & Annex	Month	12	\$21.86	\$262.32	\$40.00	\$480.00
13	County Office Bldg.	Month	12	\$21.86	\$262.32	\$40.00	\$480.00
14	Agricultural Center	Month	12	\$19.67	\$236.04	\$50.00	\$600.00
15	Parks & Facilities Dept. – Doub's Woods Park	Month	12	\$19.67	\$236.04	\$40.00	\$480.00
16	Parks & Facilities Dept. – Kemps Mill Park (July & August 2017, June 2018)	Month	3	\$10.93	\$32.79	\$40.00	\$120.00
17	Parks & Facilities Dept. – Martin L. Snook Park Pool (July & August 2017, May & June 2013)	Month	4	\$10.93	\$43.72	\$40.00	\$160.00

*	*** Q-17-637 Pest Control Services awarded to Home Paramount Pest Control ***			Home Paramount Pest Control Forest Hill, MD		Innovative Pest Mgmt., Inc. Beltsville, MD	
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
18	Pen Mark Park Museum & Dance Pavilion (July, August, September, October 2017 & May, June 2018)	Month	6	\$10.93	\$65.58	\$40.00	\$240.00
19a.	Div. of Fire & Emergency Services Special Operations Team	Month	12	\$13.11	\$157.32	\$40.00	\$480.00
19b.	Div. of Fire & Emergency Services Special Operations Team (Termite and Inspection Report ONLY)	Annual	1	\$0.00	\$0.00	\$40.00	\$40.00
20	Museum of Fine Arts	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
21a.	Highway Dept. – Central Section	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
21b.	Highway Dept. – Central Location (Termite and Inspection Report ONLY)	Annual	1	\$0.00	\$0.00	\$40.00	\$40.00
22a.	Highway Dept. – Eastern Section	Bi-Month	6	\$10.93	\$65.58	\$40.00	\$240.00
22b.	Highway Dept. – Eastern Section (Termite and Inspection Report Only)	Annual	1	\$0.00	\$0.00	\$40.00	\$40.00
23a.	Highway Dept. – Southern Section	Bi-Month	6	\$10.93	\$65.58	\$40.00	\$240.00
23b.	Highway Department – Southern Section (Termite and Inspection Report Only)	Annual	1	\$0.00	\$0.00	\$40.00	\$40.00
24a.	Highway Dept. – Western Section	Bi-Month	6	\$10.93	\$65.58	\$40.00	\$240.00
24b.	Highway Dept. – Western Section (Termite and Inspection Report Only)	Annual	1	\$0.00	\$0.00	\$40.00	\$40.00
25a.	Sheriff's Department – Detention Center, including the Minimum Security Wing, "E" Pod and "H" Pod	Month	12	\$27.32	\$327.84	\$60.00	\$720.00

*	** Q-17-637 Pest Control Services Home Paramount Pest Contro	to	Home Paramount Pest Control Forest Hill, MD		Innovative Pest Mgmt., Inc. Beltsville, MD		
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
25b.	Sheriff's Department – Detention Center, including Minimum Security Wing and "E" Pod (Interior of Cells – All Cells Every Other Month)	Bi-Month	6	\$10.93	\$65.58	\$60.00	\$360.00
25c.	Sheriff's Department – Main Jail	Month	12	\$27.32	\$327.84	\$60.00	\$720.00
25d.	Sheriff's Dept Detention Center, Main Jail (Interior of cells – All cells every other month)	Bi-Month	6	\$10.93	\$65.58	\$60.00	\$360.00
25e.	Sheriff's Dept Detention Center, Central Booking	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
25f.	Sheriff's Dept Detention Center, Female Housing	Month	12	\$27.32	\$327.84	\$50.00	\$600.00
26	Sheriff's Dept Detention Center, Day Reporting Center	Month	12	\$16.39	\$196.68	\$35.00	\$420.00
27	Sheriff's Dept. – Patrol & Garage Buildings	Month	12	\$13.11	\$157.32 *	\$35.00	\$420.00
28a.	Solid Waste Dept. – Forty West Landfill (Administration Building)	Month	12	\$16.39	\$196.68	\$45.00	\$540.00
28b.	Solid Waste Dept. – Forty West Landfill (Maintenance Building)	Month	12	\$16.39	\$196.68	\$45.00	\$540.00
28c.	Solid Waste Dept. – Forty West (Permits Sales Building)	Month	12	\$16.39	\$196.68	\$20.00	\$240.00
28d.	Solid Waste Dept. – Forty West (Scale House)	Month	12	\$16.39	\$196.68	\$20.00	\$240.00
28e.	Solid Waste Dept. – Forty West (monitoring and product replenishment of Rodent Baiters)	Bi-Week	26	\$14.00	\$364.00	\$30.00	\$780.00
29	Transit Dept.	Month	12	\$16.39	\$196.68	\$30.00	\$360.00

*	*** Q-17-637 Pest Control Services Home Paramount Pest Contro		to	Home Paramount Pest Control Forest Hill, MD		Innovative Pest Mgmt., Inc. Beltsville, MD	
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
30	Dept. of Water Quality – Administration Building	Month	12	\$16.39	\$196.68	\$30.00	\$360.00
31	Dept. of Water Quality – Antietam WWTP	Quarter	4	\$16.39	\$65.56	\$30.00	\$120.00
32a.	Dept. of Water Quality – Conococheague WWTP	Quarter	4	\$5.46	\$21.84	\$40.00	\$160.00
32b.	Dept. Of Water Quality – Conococheague WWTP (Mayfly Service - Control Building)	Bi-Month	6	\$16.39	\$98.34	\$40.00	\$240.00
32c.	Dept. of Water Quality – Conococheague WWTP (Mayfly Service - Head Works Building)	Quarter	4	\$16.39	\$65.56	\$40.00	\$160.00
32d.	Dept. of Water Quality – Conococheague WWTP (Mayfly Service - Filter Works Building)	Quarter	4	\$16.39	\$65.56	\$40.00	\$160.00
32e.	Dept. of Water Quality – Conococheague WWTP (Mayfly Servcie - Solids Building)	Quarter	4	\$16.39	\$65.56	\$40.00	\$160.00
33	Dept. of Water Quality – Maintenance Inventory Building	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
34	Dept. of Water Quality – Maintenance Office Building	Month	12	\$13.11	\$157.32	\$40.00	\$480.00
35	Dept. of Water Quality – Sharpsburg WTP	Quarter	4	\$16.39	\$65.56	\$40.00	\$160.00
36a.	Dept. of Water Quality – Smithsburg WWTP	Quarter	4	\$16.39	\$65.56	\$40.00	\$160.00
36b.	Dept. of Water Quality – Smithsburg WWTP (Mayfly Service)	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
37	Dept. of Water Quality – Winebrenner WWTP	Quarter	4	\$16.39	\$65.56	\$40.00	\$160.00

ą	*** Q-17-637 Pest Control Services Home Paramount Pest Contro		to	Home Paramount Pest Control Forest Hill, MD		Innovative Pest Mgmt., Inc. Beltsville, MD	
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
38	Transit Dept. – Transit Transfer Center	Month	12	\$16.39	\$196.68	\$40.00	\$480.00
39	Emergency Air Unit	Month	12	\$10.93	\$131.16	\$30.00	\$360.00
40	Emergency Services/911 Center	Month	12	\$5.46	\$65.52	\$45.00	\$540.00
	Total Base Quotation Items 1 - 40 (Annual Price)			\$8,8	79.05 *	\$21,0)80.00 *
Hourly (Addition	Rate - onal Services as Required at the Option of the C	ounty)		\$59	9.00	\$8.	5.00
	Rate for Groundhog Control - onal Services as Required at the Option of the C	ounty)		\$75	5.00	\$9:	5.00

^{*} Corrected calculations based on unit pricing

**	* Q-17-637 Pest Control Service Home Paramount Pest Contr	l to	Ehrlich Pest Control Hagerstown, MD		Regional Pest Management Halethorpe, MD		
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
1	Airport – Terminal Building	Month	12	\$25.00	\$300.00	\$80.00	\$960.00
2	Airport – Maintenance Building #1	Bi-Month	6	\$25.00	\$150.00	\$40.00	\$240.00
3	Airport – Snow Removal Building	Bi-Month	6	\$25.00	\$150.00	\$40.00	\$240.00
4	Airport – Fire Station	Month	12	\$25.00	\$300.00	\$40.00	\$480.00
5	Black Rock Golf Course – Club House, Pro-Shop & Restaurant	Month	12	\$30.00	\$360.00	\$60.00	\$720.00
6	Black Rock Golf Course – Maintenance Building	Month	12	\$25.00	\$300.00	\$40.00	\$480.00
7	Black Rock Golf Course – Maintenance Supt's. Residence	Quarter	4	\$90.00	\$360.00	\$100.00	\$400.00
8	Dwyer Building	Month	12	\$25.00	\$300.00	\$60.00	\$720.00
9	Martin Luther King Center	Month	12	\$30.00	\$360.00	\$80.00	\$960.00
10	Administrative Annex	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
11	Administration Complex	Month	12	\$50.00	\$600.00	\$100.00	\$1,200.00
12	Court House & Annex	Month	12	\$25.00	\$300.00	\$80.00	\$960.00
13	County Office Bldg.	Month	12	\$25.00	\$300.00	\$60.00	\$720.00
14	Agricultural Center	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
15	Parks & Facilities Dept. – Doub's Woods Park	Month	12	\$25.00	\$300.00	\$40.00	\$480.00
16	Parks & Facilities Dept. – Kemps Mill Park (July & August 2017, June 2018)	Month	3	\$30.00	\$90.00	\$40.00	\$120.00
17	Parks & Facilities Dept. – Martin L. Snook Park Pool (July & August 2017, May & June 2013)	Month	4	\$30.00	\$120.00	\$40.00	\$160.00

**	*** Q-17-637 Pest Control Services awarded to Home Paramount Pest Control ***			Ehrlich Pest Control Hagerstown, MD		Regional Pest Management Halethorpe, MD	
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
18	Pen Mark Park Museum & Dance Pavilion (July, August, September, October 2017 & May, June 2018)	Month	6	\$30.00	\$180.00	\$60.00	\$360.00
19a.	Div. of Fire & Emergency Services Special Operations Team	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
19b.	Div. of Fire & Emergency Services Special Operations Team (Termite and Inspection Report ONLY)	Annual	1	\$90.00	\$90.00	\$0.00	\$0.00
20	Museum of Fine Arts	Month	12	\$30.00	\$360.00	\$80.00	\$960.00
21a.	Highway Dept. – Central Section	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
21b.	Highway Dept. – Central Location (Termite and Inspection Report ONLY)	Annual	1	\$90.00	\$90.00	\$0.00	\$0.00
22a.	Highway Dept. – Eastern Section	Bi-Month	6	\$30.00	\$180.00	\$40.00	\$240.00
22b.	Highway Dept. – Eastern Section (Termite and Inspection Report Only)	Annual	1	\$90.00	\$90.00	\$0.00	\$0.00
23a.	Highway Dept Southern Section	Bi-Month	6	\$30.00	\$180.00	\$40.00	\$240.00
23b.	Highway Department – Southern Section (Termite and Inspection Report Only)	Annual	1	\$90.00	\$90.00	\$0.00	\$0.00
24a.	Highway Dept. – Western Section	Bi-Month	6	\$30.00	\$180.00	\$40.00	\$240.00
24b.	Highway Dept. – Western Section (Termite and Inspection Report Only)	Annual	1	\$90.00	\$90.00	\$0.00	\$0.00
25a.	Sheriff's Department – Detention Center, including the Minimum Security Wing, "E" Pod and "H" Pod	Month	12	\$90.00	\$1,080.00	\$60.00	\$720.00

**	* Q-17-637 Pest Control Services Home Paramount Pest Contr	l to	-	Pest Control town, MD	Regional Pest Management Halethorpe, MD		
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
25b.	Sheriff's Department – Detention Center, including Minimum Security Wing and "E" Pod (Interior of Cells – All Cells Every Other Month)	Bi-Month	6	\$200.00	\$1,200.00 *	\$240.00	\$1,440.00
25c.	Sheriff's Department – Main Jail	Month	12	\$60.00	\$720.00	\$40.00	\$480.00
25d.	Sheriff's Dept Detention Center, Main Jail (Interior of cells – All cells every other month)	Bi-Month	6	\$600.00	\$3,600.00	\$160.00	\$960.00
25e.	Sheriff's Dept Detention Center, Central Booking	Month	12	\$40.00	\$480.00	\$40.00	\$480.00
25f.	Sheriff's Dept Detention Center, Female Housing	Month	12	\$60.00	\$720.00	\$80.00	\$960.00
26	Sheriff's Dept Detention Center, Day Reporting Center	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
27	Sheriff's Dept. – Patrol & Garage Buildings	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
28a.	Solid Waste Dept. – Forty West Landfill (Administration Building)	Month	12	\$30.00	\$360.00	\$27.00	\$324.00
28b.	Solid Waste Dept. – Forty West Landfill (Maintenance Building)	Month	12	\$30.00	\$360.00	\$27.00	\$324.00
28c.	Solid Waste Dept. – Forty West (Permits Sales Building)	Month	12	\$30.00	\$360.00	\$27.00	\$324.00
28d.	Solid Waste Dept. – Forty West (Scale House)	Month	12	\$30.00	\$360.00	\$27.00	\$324.00
28e.	Solid Waste Dept. – Forty West (monitoring and product replenishment of Rodent Baiters)	Bi-Week	26	\$40.00	\$1,040.00	\$40.00	\$1,040.00
29	Transit Dept.	Month	12	\$30.00	\$360.00	\$60.00	\$720.00

**	* Q-17-637 Pest Control Service Home Paramount Pest Contr	l to	Ehrlich Pest Control Hagerstown, MD		Regional Pest Management Halethorpe, MD		
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
30	Dept. of Water Quality – Administration Building	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
31	Dept. of Water Quality – Antietam WWTP	Quarter	4	\$60.00	\$240.00	\$80.00	\$320.00
32a.	Dept. of Water Quality – Conococheague WWTP	Quarter	4	\$60.00	\$240.00	\$80.00	\$320.00
32b.	Dept. Of Water Quality – Conococheague WWTP (Mayfly Service - Control Building)	Bi-Month	6	\$120.00	\$720.00	\$80.00	\$480.00
32c.	Dept. of Water Quality – Conococheague WWTP (Mayfly Service - Head Works Building)	Quarter	4	\$120.00	\$480.00	\$80.00	\$320.00
32d.	Dept. of Water Quality – Conococheague WWTP (Mayfly Service - Filter Works Building)	Quarter	4	\$120.00	\$480.00	\$80.00	\$320.00
32e.	Dept. of Water Quality – Conococheague WWTP (Mayfly Servcie - Solids Building)	Quarter	4	\$120.00	\$480.00	\$80.00	\$320.00
33	Dept. of Water Quality – Maintenance Inventory Building	Month	12	\$30.00	\$360.00	\$80.00	\$960.00
34	Dept. of Water Quality – Maintenance Office Building	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
35	Dept. of Water Quality – Sharpsburg WTP	Quarter	4	\$30.00	\$120.00	\$80.00	\$320.00
36a.	Dept. of Water Quality – Smithsburg WWTP	Quarter	4	\$30.00	\$120.00	\$80.00	\$320.00
36b.	Dept. of Water Quality – Smithsburg WWTP (Mayfly Service)	Month	12	\$80.00	\$960.00	\$40.00	\$480.00
37	Dept. of Water Quality – Winebrenner WWTP	Quarter	4	\$40.00	\$160.00	\$80.00	\$320.00

**	* Q-17-637 Pest Control Service Home Paramount Pest Contr		l to	Ehrlich Pest Control Hagerstown, MD		Regional Pest Management Halethorpe, MD	
Item No.	Description	Unit	Qty.	Unit Price	Total	Unit Price	Total
38	Transit Dept. – Transit Transfer Center	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
39	Emergency Air Unit	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
40	Emergency Services/911 Center	Month	12	\$30.00	\$360.00	\$40.00	\$480.00
	Total Base Quotation Items 1 - 40 (Annual Price)			\$24,7	780.00 *	\$28,7	736.00
Hourly Rate - (Additional Services as Required at the Option of the County)			\$120.00		\$100.00		
•	Rate for Groundhog Control - nal Services as Required at the Option of the	e County)		\$120.00		\$100.00	

Quotes Opened: May 4, 2017